
 

 

 

 

SKU 54 Abarth 595 Fitting Instructions  

 

Tools you will need: 

• Allen Key Set 

• Stanley Knife 

• Tape Measure 

• Marker Pen/Pencil 

In your fitting kit you will have: 

• M8 x 45 Caphead (x2) 

• M8 x 25 Buttonhead Bolt (x2) 

• M8 Hex Flanged Nut (x2) 

 

PLEASE NOTE: ALL MOUNTING POINTS ARE OEM AND NO DRILLING IS 

REQUIRED TO INSTALL THIS K-BRACE. 

 

1. Remove the carpet on either side of the boot space behind the seats 

if required. 

2. Use the K-Brace to locate the existing holes on either side of the boot 

space.  

3. Fix the brackets into place using the M8 x 45 Buttonhead Bolts and 

M8 Hex Flange Nuts. 

4. Insert the K-Brace and ensure all holes are aligned. 



5. Use the M8 x 45 Caphead Bolts and M8 Hex Flanged Nuts to 

adequately tighten the K-Brace into position. 

6. Bottom Fixings are OEM and sit under the seat brackets using the 

same bolts. 

7. Remove the K-Brace if then measure and cut the plastics if required.  

8. Refit the K-Brace followed by the carpet. 

 

Any questions or additional information about the installation of your  

K-Brace please do not hesitate to contact us through our website. 

Thanks, from everyone here at BAF Motorsport 


